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ENGLISH – 40 

(Grammar-20) 

 

1. Tick the correct alternatives to complete the sentences:-                                                    1×8 = 8 

   i) „The man is known  ___________me.‟ 

              a) by                          b) to                             c ) in                         d) with 

   ii) „I __________ (go) through the book already‟ –  

              a)  went                      b) have went               c ) have gone            d) will go 

 iii) „Ram is ________________ (good) students in the class‟ . 

             a) one of the good      b) one of the best      c ) one of  good        d) one of a good    

iv) The infinitive form of the sentence „I must go there‟ will be. 

             a) I am to go there                                       b) I have to go there 

             c) I will have to go there                             d) I shall have to go there  

v) „One __________keep one‟s promises‟ .The modal in the blank will be  

             a) cannot                      b) should               c ) must                          d) May  

vi ) The correct suffix to the word „ Conserv +_______‟ will be  

            a) action                     b) ation                      c ) ing                        d) asion  

vii) “A rolling stone gathers no moss” – the Participle Adjective in the sentence is-- 

            a) A rolling            b) Stone                  c ) rolling                   d) A rolling stone  

viii) „Someone has cut the tree.‟ The voice change of the sentence  will be-- 

            a)The tree has been cut.                        b) The tree has been cut by someone. 

           c) The tree has  cut.                               d) All of these 

2. Fill in the blanks with the correct answer as directed:                                                          1×4=4  

   i) Parents are  always affectionate  _______________  their children.(put correct preposition) 

  ii) „One who can foretell‟ is called __________________________. 

  iii) I must  ________     _____________(reach) before the sun sets.(put the correct verb form) 

  iv) ‘She is staring at _________________woman.’(Put the correct article) 

3. Do as directed :                  2×4=8                               
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i) „Every cricket team has a captain . He directs all players .‟ (join with infinitive) 

Ans:-_______________________________________________________________ 

ii) „Ram said to me , “ I went there yesterday”.‟ (Change the mode of narration ) 

Ans:-________________________________________________________________ 

iii) „Sachin is better than most other players in India.‟(Change into positive degree) 

Ans:-_________________________________________________________________ 

iv) „Close the door .‟ (Change the voice) 

Ans:-_________________________________________________________________ 

                                                                 (Comprehension-10) 

4. Read the  passage given below and answer the questions which follow. 

The leaning tower in Pisa in Italy is famous simply because it leans . It is actually the bell tower of the 

cathedral of the city of  Pisa . Although it was designed to stand straight , the tower began leaning to 

the South West  soon after the onset of the construction in 1173. The reason of leaning is that the 

tower is built on unsuitable ground for such a heavy and tall building. It is only about 2 metres above 

sea level and built on a river bed . The underlying ground is made up of sand and clay. Because of the 

fact that the layers are not even, as the ground has compressed, it has sunk more in some places than in 

others.    

 

i) Write whether the following statements are True or False. Add supporting sentence from the 

    passage                                                            2×2=4 

 

    a)The leaning tower is situated outside Pisa. 

    SS:-___________________________________________________________________ 

   b) The tower is less than 5 metres above sea level . 

    SS:-___________________________________________________________________ 

ii) Complete the following sentences  with the information from the above passage .            1×2=2      

a) The tower was designed to ________________________________________________ 

  b) The underlying ground is made up of ________________________________________ 

iii) Answer the following  questions in brief:                                                                              2×2=4 

 a) Write something about leaning Tower in Pisa.           

Ans:-____________________________________________________________________________ 

b) Why is Tower leaning ? 
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Ans:-____________________________________________________________________________ 

                                               (Writing & Spoken Expression-10)                              

5.Tick the correct expression to complete the sentences:               1×4=4 

 i) How would you greet your Class  Teacher in the class?                             

        a) Good morning Sir/miss!        b) morning Sir/miss!    c) Good afternoon!       d) All of these 

ii)  You are a newcomer in class VII in your school .How would you introduce yourself ?  

            a) I’m _____________ .  b) Hi! Mate, I’m ____________your friend. 

           c) Hi! My name is  ____________.      d) I ________________ come to class VII. 

iii) Suppose, you want to talk to an unknown. How would you start? 

 

           a) ‘Excuse me! I ………’                                   b) Listen!...........   

          c) ‘Excuse me sir/madam ! I ………’                 d) All of these 

iv) Suppose, you want to write to your friend. How would you start? 

 

           a) ‘Dear Amal,’                                                  b) ‘Respected Amal’   

          c) ‘Hello ! Amal’                   d) All of these 

6. Fill in the blanks with correct answers :-                                                                                1×2=2 

i) „Have a sweet dream!‟ is told ___________________________________ 

ii) „Yours ever’ is the ending  expression for______________________letter. 

7. Do as directed:                  2×2=4 

i) Suppose, you want to join with your friends to a circus show. How would you tell them?. 

Ans:-______________________________________________________________________ 

ii) Greet your cousin for doing good result in his/her examination. 

Ans:-______________________________________________________________________ 

 

GENERAL SCIENCE -20 

1) সঠিক উত্তরটি নিবোচি কর্রা:-                                                                              1X6=6 

  i)রকোনটি রচৌম্বক ঩দোথথ নয় – 

      a) ররো঴ো          b) রকোফোল্ট        c) কোঠ           d) রনরকর  
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  ii)঩যভোনুফোদটি প্রকো঱ করযন – 

      a) ডোরটন         b)রনউটন         c)অ্যোরবোগোড্র        d) যোদোয রপোডথ  

  iii)ভ঱োফোর঴ত একটি রযোগ ঴ররো- 

      a) রডঙ্গ ু          b) ফ঳ন্ত          c)঴োভ            d) টোয়পরয়ড 

  iv)চুম্বরকয রভরুয ঳ংখযো – 

      a)একটি           b)দটুি            c)রতনটি        d) চোযটি  

  v)একটি অ্যরনযয প্রধোন উ঩োদোন ঴র- 

      a)অ্ণুজীফ         b)঳ফুজ উরিদ       c)ছত্রোক        d) প্রোণী 

  vi)রকোনটি জীফোশ্ব জ্বোরোরন নয় ? 

      a)কয়রো           b)গযোর঳োররন         c)কোঠ       d) রডরজর 

2) অনি সংর্ের্ে দ-ুএক কথায় উত্তর দাও :-                                                                  1x6=6 

  i)কযোটোয়ন কী ? 

    Ans:- 

 

    ii)টোয়পরয়ড রযোরগয কোযণ কী ? 

    Ans:- 

  iii)একটি প্রোকৃরতক চুম্বরকয উদো঴যণ দোও৷ 

    Ans:- 

  iv)ভোরছ ফোর঴ত দটুি রযোরগয নোভ রররখো৷ 

    Ans:- 

  v)একটি ঩রযরফর঱ খোদয খোদরকয ঳ম্পকথ রক কী ফরর ? 
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    Ans:- 

  vi)র঳রর঳য়ো঳ ও পোরযন঴োইট রেররয প্রোথরভক অ্ন্তয কত ? 

  Ans:-   

 

3)  নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও :-                                                                          2x4=8 

  a) ঩রযরফ঱ ফোন্ধফ ঱রি ফররত কী রফোরঝো ? 

     Ans:- 

  b) রফশ্ব উষ্ণোয়ন ফররত কী রফোরঝো ? 

     Ans:- 

  c)রমোজযতো কোরক ফরর ? 

     Ans:- 

  d)জীফবফরচত্রয কোরক ফরর ? 

     Ans:- 

 

 

 

MATHEMATICS -40 
A) সঠিক উত্তরটি নিবোচি কর্র ললর্িা :-                                                                   1x14=14   
  1) 5 x _________________ =4  

       a) 5

28
           b) 5

20
            c)28

5
           d)রকোরনোটি নয়  

  2)1= (-13)x x = ? 

      a)0            b)1             c)-1           d)2 

  3)(-31)÷[(-30)+(-1)] = _____________________ 
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      a)1            b)-3            c)0           d)-1 

  4) 
12

 81
 এয ররঘষ্টতভ ভোন ঴ররো-  

     a)12

81
            b) 4

72
             c) 4

27
           d) 3

11
 

  5)঩যফতী যোর঱টি রক ? az, by, cx, ____________ 

      a)of            b)gh            c)ij            d)dw 

  6) 

 

 

  

 

      a)1           b)2             c)3            d)4 

  7) 24

5
 - 11

5
 = ? 

      a)11

5
           b)21

3
            c)13

5
           d)21

4
 

  8)11.3 x 2.7 = ? 

      a)29.31       b) 29.51          c)30.31       d)30.51 

  9)ছরফটিরত রত্রবুরজয ঳ংখযো কত ? 

 

 

     a)8          b)10              c)12         d)14 

  10)STRONG  ররখোটিরক আয়নোয ঳োভরন ধযরর রকভন রদখোরফ ? 

    a)SGONЯТ        b)GNORTS      c)RONGTS        d) )রকোরনোটি নয় 

  11) 45 এয রভৌররক উৎ঩োদরক রফরেলণ ঴ররো- 

5 
4 

64 

1 

8 

2 

25 
? 
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     a)23 x 5         b)32 x 5           c)52 x 3         d)52 x 9 

  12)রযোর঴ত 50 টোকোয় 50 ঩য়঳ো রোব করয I তোয ঱তকযো রোব কত ? 

     a)1%            b)2%              c) 0.1%           d)1.1% 

  13)একটি গোরে ঩োরকথ ং এরোকোয় 8 টিয ভরধয 1টি গোরেয যঙ নীর৷কত ঱তোং঱ গোরেয যঙ নীর ? 

     a)1.25%          b)7%              c) 9%           d)12.5% 

  14)একটি ঩োরখ 18 রকরভ/ঘন্টো রফরগ 3 ঘন্টো এফং 15 রকরভ/ঘন্টো রফরগ 2 ঘন্টো উেরছ৷ ঩োরখটি 

    রভোট কত রকরভ উেরছ ? 

     a)69 রকরভ        b)75 রকরভ       c)81 রকরভ        d)84 রকরভ 

B) নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও :-                                                                         2x7=14 

  i)রচত্রটিয েনরসীমা রনণথয় করযো 

 

 

 

 

  ii)9:24= ___________ :8 

  iii)729=9x, X= _________________ 

  iv)< ফো = ফো > রচহ্ন ফ঳োও  34 _________ 43 

  v) রকোনটি ফে ? (𝟐𝟏
𝟕

 এর 𝟑
𝟏𝟒

 ),  নো ( 𝟑
𝟐𝟓

 এর 𝟏𝟓
𝟖

 ) 

 

 

  vi)2 নকগ্রা 450 গ্রামর্ক রকররোগ্রোরভ প্রকো঱ করযো৷ 

 

  vii)঳ফ সামন্তনরকই আয়ির্েত্র – ঳তয নো রভথযো বযািযা করযো৷ 

10cm 

 

 
10cm 

4cm 
 

4cm 

4cm 4cm 
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C) নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও :-                                                                         3x4=12 

  i)দটুি ঳ংখযোয অ্নু঩োত 5:7 এফং তোরদয গ঳োগু 13,঳ংখযো দটুি রক রক ? 

 

  ii) ঳যর করযো-    (- 
𝟏𝟔

𝟓
 x 

𝟐𝟎

𝟖
 )-(𝟏𝟓

𝟓
 x - 𝟑𝟓

𝟓
 ) 

 

 

 

  iii)𝟔𝟓

𝟏𝟐
 এফং 𝟗

𝟒
 এরদয রমোগপররক এরদয রফরয়োগপর দ্বোযো বোগ করযো I 

 

 

  iv) X এয ভোন রনণথয় করযো- 

 

 

 

 

 

For Rough Use 
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